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Fta) — JO FGodu > 0,F(a) FEC0, +o0) RS,

N F'(x) = f(x) > 0,fLA F(x) fE(0, +o0) P23 .
5.D
GERY X o 5 £ s hEEEa s, 20FE— 5 € (a.b),f#i15
P — %@ _ 2/ ®f® _ f®
(b)) — ffla) 218 f (& RGN

” - /& 2 — %@ _ ’
FE (&) + f(O —o,Ellf(E) =— 1.\ A ) — ) 1, %P5 5|

2 a) — f2b) = f2(b) — f*(a).

= BEJ

1.GERY AR f(o) RMERFEEA (@) = fO) B LHFEE—S c € (a,b),.[§18
fle) # fla) = f(b).
# (o) > fla) , WHEla,c] b f(2) WRPEBH P EEBEX G, R ELHFE—S5
EE (asc) T (ab) [H15

Fo = f(cz:af(a) _

# (o)< fla) = f(b), WAE[c,b] ERIHFIMEAH REEHE T A, ZV0FE— A
EE (c,b) T (ah) fH1E

fo=LB=HD 5,

25 b ik fi BRI

OiFEY A8t a] A ROE RS TE S . BB V2 € (a0, F £ (2) <0, FL f(2)
B, FIA (@) = f(2) = £(B) T fla) = (B HE fla) = f(z) = f(b) Bl f(x)
NHE XEEETE .

2.[GERRY  fEHIBIRE F(o) = f(2) —x, AR 0 < f(2) << 1,18 F(0) = f(0) > 0, 1M
F() = fQ) —1<< 0, AR L R EE FRRITE (0. 1D W EDIFIE— S 615 F(& =0, )

f&—¢e=o.

T 7 ROIE I ME— 1 .

o<z <z <1,H f(x1) = 21, f(x2) = x5, B F(x;) = F(x3) = 0.

B REBAFLE x0 € (x1,22) C (0,1, #18 F'(x0) = 0,8 f'(x) = 1, X 5%

JEth



